



B.B.A. DEGREE EXAMINATION – JUNE 2008.

First Year

FINANCIAL AND MANAGEMENT ACCOUNTING

Time : 3 hours
Maximum  marks : 75

Answer for 5 marks question should not 
exceed 2 pages.

Answer for 15 marks questions should not 
exceed 5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. Briefly explain any two accounting conventions.

PnUQ¯À ©µö£õÊ[SPÎÀ H÷uÝ® CµsiøÚ¨ £ØÔ _¸UP©õP ÂÍUSP.

2. State the differences between a Trial Balance and a Balance Sheet.

C¸¨£õ´ÂØS®, C¸¨¦{ø»U SÔ¨¤ØS® Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍU SÔ¨¤kP.

3. Pass Journal entries to rectify the following errors.

(a)
Sold furniture for Rs. 3,000 passed through  the sales book.

(b)
Rs. 4,000 paid as salary to manager has been debited to his personal account.

(c)
Goods purchased for Rs. 5,000 from Lal have been omitted to be recorded in the books.

(d)
Sales book has been undercast by Rs. 210.

¤ßÁ¸® ¤øÇPøÍz v¸zxÁuØPõÚ •uØSÔ¨÷£mk¨ £vÄPøÍz u¸P.

(A)
AøÓ¯o¯[PÒ ¹. 3,000 US ÂØÓx ÂØ£øÚ¨ ¦zuPzvÀ GÊu¨£mhx.

(B)
\®£Í® ¹. 4,000 ÷©»õÍ¸US öPõkzux AÁµx PnUQÀ £ØÖ øÁUP¨£mhx.

(C)
»õ¼hª¸¢x ¹. 5,000 US \µUS Áõ[Q¯x ¦zuPzvÀ GÊuõ©À Âh¨£mhx.

(D)
ÂØ£øÚ HmiÀ ¹. 210 SøÓzx Tmh¨£mhx.

4. What is a Funds Flow Statement? Explain its managerial uses.

{v Kmh AÔUøP GßÓõÀ GßÚ? Auß ÷©»õsø©¨ £¯ßPøÍ ÂÍUSP.

5. What is Management Accounting? State its importance.

÷©»õsø©U PnUQ¯À GßÓõÀ GßÚ? Auß •UQ¯zxÁzøuU SÔ¨¤kP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

6. Prepare a three coloumn cash book of Thiru Sethu from the following transactions :

	2007
April
	
	Rs.

	1
	Sethu commenced business with cash
	10,000

	3
	Deposited into bank
	4,000

	5
	Bought goods for cash
	3,800

	10
	Purchased goods by cheque
	1,500

	11
	Sold goods to Akbar on credit
	3,560

	12
	Received cash from Asha 
	290

	
	Discount allowed
	10

	15
	Bought goods from Suresh on credit
	
2,800

	17
	Cash sales
	1,500

	24
	Withdrew from bank for office use
	2,175

	25
	Paid wages by cheque
	130

	29
	Paid Suresh by cheque
	2,760

	
	Discount allowed by him
	40

	30
	Paid into bank
	1,120

	30
	Received a cheque for Rs. 3,500 from Akbar in full settlement of his account which is deposited into bank.


RÌUPõq® |hÁiUøPPøÍU öPõsk v¸. ÷\xÂß ‰ßÖ £zvPøÍU öPõsh öµõUP Hmøhz u¯õ›UPÄ®.

	2007
H¨µÀ
	
	¹.

	 1
	÷\x öµõUP® ÷£õmk öuõÈø»z öuõh[QÚõº
	
10,000

	3
	Á[Q°À ö\¾zv¯x
	4,000

	5
	öµõUPzvØS \µUS Áõ[Q¯x
	3,800

	10
	Põ÷\õø» ‰»® \µUS öPõÒ•uÀ ö\´¯¨£mhx
	
1,500

	11
	AU£¸US \µUS PhÛÀ ÂØ£øÚ ö\´¯¨£mhx
	
3,560

	12
	BåõÂhª¸¢x öµõUP® ö£Ó¨£mhx 
	
290

	
	AÎUP¨£mh uÒÐ£i
	10

	15
	_÷µæhª¸¢x PhÛÀ öPõÒ•uÀ ö\´u \µUS
	
2,800

	17
	öµõUP ÂØ£øÚ
	1,500

	24
	A¾Á»P E£÷¯õPzvØPõP Á[Q°¼¸¢x öµõUP® Gkzux
	
2,175

	25
	Põ÷\õø» ‰»® T¼ öPõkzux
	130

	29
	_÷µåûUS Põ÷\õø» ‰»® ö\¾zv¯x
	
2,760

	
	AÁµõÀ AÎUP¨£mh uÒÐ£i
	40

	30
	Á[Q°À ö\¾zv¯x
	1,120

	30
	PnUøP •ÊÁx® •izxU öPõÒÁuØPõP AU£›hª¸¢x ö£ØÓ Põ÷\õø» ¹. 3,500 Á[Q°À ö\¾zu¨£mhx.


7. From the following information, prepare Trading and Profit and Loss Account for the year ended 31.12.2007 and a balance sheet as on that date :

Trial Balance

	Particulars
	Debit
Rs.
	Credit
Rs.

	Purchases
	13,000
	–

	Salaries
	5,000
	–

	Interest
	1,300
	

	Sales
	–
	30,000

	Stock (1.1.2007)
	15,000
	

	Carriage Inwards
	200
	

	Stationery
	800
	

	Drawings
	1,700
	

	Creditors
	
	2,000

	Debtors
	18,000
	

	Capital
	
	25,000

	Furniture
	1,000
	

	Machinery
	4,000
	

	Loan
	
	3,000

	
	60,000
	60,000


Adjustments :

(a)
Stock on 31.12.2007 was Rs. 12,000.

(b)
Allow interest on capital at 5%.

(c)
Depreciate machinery by 10% and furniture by 5%.

(d)
Provide 5% for bad and doubtful debts on debtors.

RÌUPõq® ÂÁµ[PÎ¼¸¢x 31.12.2007® |õÍßÖ •iÁøh¢u BsiØS Â¯õ£õµ ©ØÖ® C»õ£ |mhU PnUøPz u¯õº ö\´x A÷u ÷uv°À EÒÍ£i C¸¨¦{ø»U SÔ¨ø£²® u¯õ›UPÄ®.

C¸¨£õ´Ä

	ÂÁµ[PÒ
	£ØÖ
¹.
	ÁµÄ
¹.

	öPõÒ•uÀ
	13,000
	–

	\®£Í®
	5,000
	–

	Ámi
	1,300
	

	ÂØ£øÚ
	–
	30,000

	\µUQ¸¨¦ (1.1.2007)
	15,000
	

	EÒyUSU T¼
	200
	

	GÊxö£õ¸mPÒ
	800
	

	Gk¨¦
	1,700
	

	PhÜ¢÷uõº
	
	2,000

	PhÚõÎPÒ
	18,000
	

	•uÀ
	
	25,000

	AøÓ¯o¯[PÒ
	1,000
	

	C¯¢vµ®
	4,000
	

	Phß
	
	3,000

	
	60,000
	60,000


\›UPmhÀPÒ :

(A)
\µUQ¸¨¦ (31.12.2007ß £i) ¹. 12,000

(B)
•uÀ «x Ámi 5% AÝ©vUP.

(C)
÷u´©õÚ® PõsP: C¯¢vµzvß «x 10% ©ØÖ® AøÓ¯o¯[PÒ «x 5%.

(D)
PhÚõÎPÒ «x ÁµõUPhß ©ØÖ® I¯UPhÝUPõP 5% JxUSP.

8. Following are the Balance Sheets of a partnership firm.

	Liabilities
	1.1.2007
Rs.
	31.12.2007
Rs.
	Assets
	1.1.2007
Rs.
	31.12.2007
Rs.

	Creditors
	80,000
	88,000
	Cash
	20,000
	14,000

	Loan from
	
	
	Debtors
	60,000
	1,00,000

	  Partners
	50,000
	–
	Stock
	70,000
	50,000

	Loan from
	
	
	Machinery
	1,60,000
	1,10,000

	 bank
	80,000
	1,00,000
	Land
	80,000
	1,00,000

	Partner’s 
	
	
	Building
	70,000
	1,20,000

	  Capital
	2,50,000
	3,06,000
	
	
	

	
	4,60,000
	4,94,000
	
	4,60,000
	4,94,000


During the year, a machine costing Rs. 20,000 (accumulated depreciation Rs. 6,000) was sold for 
Rs. 10,000. The provision for depreciation against machinery as on 1.1.2007 was Rs. 50,000 and on 31.12.2007 was Rs. 80,000. Net profit for the year 2007 was Rs. 90,000.

Prepare a Cash Flow Statement.

J¸ Tmhõsø© {ÖÁÚzvß C¸¨¦{ø»U SÔ¨¦PÒ ¤ßÁ¸©õÖ :

	ö£õÖ¨¦PÒ
	1.1.2007
¹.
	31.12.2007
¹.
	ö\õzxUPÒ
	1.1.2007
¹.
	31.12.2007
¹.

	PhÜ¢÷uõº
	80,000
	88,000
	öµõUP®
	20,000
	14,000

	TmhõÎ°hª¸¢x
	
	
	PhÚõÎPÒ
	60,000
	1,00,000

	  ö£ØÓ Phß
	50,000
	–
	\µUQ¸¨¦
	70,000
	50,000

	Á[QUPhß
	80,000
	1,00,000
	C¯¢vµ®
	1,60,000
	1,10,000

	TmhõÎPÎß 
	
	
	{»®
	80,000
	1,00,000

	  •uÀ
	2,50,000
	3,06,000
	Pmih®
	70,000
	1,20,000

	
	4,60,000
	4,94,000
	
	4,60,000
	4,94,000


|h¨£õsiÀ ¹. 20,000 AhUPÂø»²ÒÍ C¯¢vµ® (÷\º¢xÒÍ ÷u´©õÚ® ¹. 6,000) ¹. 10,000 US ÂØP¨£mhx. ÷u´©õÚzvØPõÚ JxURk 1.1.2007 À 
¹. 50,000 ® 31.12.2007 À ¹. 80,000 BPÄ® C¸¢ux. 2007 ® BsiØPõÚ {Pµ C»õ£® ¹. 90,000.

öµõUP Kmh AÔUøPø¯z u¯õ›UPÄ®.

9. From the given ratios and informations prepare Trading, Profit and Loss Account and Balance Sheet of Ashok and Co.

	Gross Profit Ratio
	:
	25%

	Net profit/Sales
	:
	20%

	Stock Turnover Ratio
	:
	10

	Net profit/capital
	:
	1/5

	Capital/total liabilities
	:
	1/2

	Fixed assets/capital
	:
	5/4

	Fixed assets/Total current assets
	:
	5/7

	Fixed assets
	:
	Rs. 10,00,000

	Closing stock
	:
	Rs. 1,00,000


R÷Ç öPõkUP¨£mkÒÍ ÂQu[PÒ ©ØÖ® ÂÁµ[PÎ¼¸¢x Â¯õ£õµ, C»õ£ |mhU PnUS ©ØÖ® C¸¨¦ {ø»U SÔ¨¦ BQ¯ÁØøÓ A÷\õU P®ö£ÛUPõP u¯õ›UPÄ®.

	ö©õzu C»õ£ ÂQu®
	:
	25%

	{Pµ C»õ£®/ÂØ£øÚ
	:
	20%

	\µUS ÂØ£øÚ ÂQu®
	:
	10

	{Pµ C»õ£®/•uÀ
	:
	1/5

	•uÀ/ö©õzu ö£õÖ¨¦UPÒ
	:
	1/2

	{ø»¯õÚ ö\õzxUPÒ/•uÀ
	:
	5/4

	{ø»¯õÚ ö\õzxUPÒ /ö©õzu |h¨¦ ö\õzxUPÒ
	
:
	
5/7

	{ø»¯õÚ ö\õzxUPÒ
	:
	¹. 10,00,000

	CÖv \µUQ¸¨¦
	:
	¹. 1,00,000


10. Prepare a Flexible Budget for overheads on the basis of the following data. Ascertain the overhead rates at 50%, 60% and 70% capacity.

	Variable overheads
	At 60% Capacity
Rs.

	Indirect Material
	6,000

	Indirect Labour
	18,000

	Semi-Variables overheads :
	

	
Electricity 

(40% fixed 60% variable)
	30,000

	
Repairs 

(80% fixed 20% variable)
	3,000

	Fixed overheads :
	

	
Depreciation
	16,500

	
Insurance
	4,500

	
Salaries
	15,000

	Total Overheads
	93,000

	Estimated Direct Labour hours
	1,86,000


RÌUPõq® ÂÁµ[PÎ¼¸¢x ÷©À ö\»ÂØPõÚ ö|QÌa] ©v¨¥møh u¯õº ö\´P. 50%, 60% ©ØÖ® 70% öPõÒÍÍÂØPõP ÷©Øö\»ÄPÐUPõÚ ÂQu[PøÍU PnUQkP.

	©õÖ® ÷©Øö\»ÄPÒ
	60% öPõÒÍÍÂÀ
¹.

	©øÓ•P ö£õ¸mPÒ
	6,000

	©øÓ•P T¼
	18,000

	KµÍÄ ©õÖ® ÷©Øö\»ÄPÒ :
	

	
ªß\õµ® 

(40% {ø»¯õÚx, 

60% ©õÓUTi¯x)
	

30,000

	
£Êx£õºzuÀ 

(80% {ø»¯õÚx, 

20% ©õÓUTi¯x)
	

3,000

	©õÓõ ÷©Øö\»ÄPÒ :
	

	
÷u´©õÚ®
	16,500

	
Põ¨¥k
	4,500

	
\®£Í®
	15,000

	ö©õzu ÷©Øö\»ÄPÒ
	93,000

	•ß©v¨¤mh ÷|›øh £o¯õÍº ©oPÒ
	
1,86,000


11. D Ltd., furnished you the following related to the year 2007.

	
	First half of the year
Rs.
	Second half of the year 
Rs.

	Sales
	45,000
	50,000

	Total cost
	40,000
	43,000


Assuming that there is no change in prices and variable cost and that the fixed expenses are incurred equally in the two half year periods, calculate for the year 2007 :

(a)
Profit volume ratio

(b)
Fixed expenses

(c)
Break even sales

(d)
Percentage of Margin of Safety.

i ¼ªöhm GßÓ {ÖÁÚ©õÚx 2007 – ® BsiØPõÚ RÌUPsh uPÁÀPøÍz öPõkzxÒÍx.

	
	Bsiß •uÀ Aøµ¯õsk
¹.
	Bsiß Cµshõ® Aøµ¯õsk 
¹.

	ÂØ£øÚ
	45,000
	50,000

	ö©õzu ö\»Ä
	40,000
	43,000


Âø»°¾® ©õÖ® ö\»ÄPÎ¾® ©õØÓ® HxªÀø» GÚU öPõsk® ÷©¾® ©õÓõa ö\»ÄPÒ Cµsk Aøµ¯õskPÎ¾® J÷µ ©õv›¯õP C¸¢uÚ GÚUöPõsk®, 2007 –® BsiØPõÚ

(A)
C»õ£ ÂØ£øÚ ÂQu®

(B)
{ø»¯õÚ ö\»ÄPÒ

(C)
C»õ£ |mh©ØÓ Âø» ÂØ£øÚ

(D)
£õxPõ¨¦¨ £Sv ÂÊUPõk BQ¯ÁØøÓU PshÔP.

12. Explain the following :

(a)
Subsidiary Books.

(b)
Master Budget.

(c)
Profitability Ratios.

RÌUPõs£ÁØøÓ ÂÁ› :

(A)
xøn HkPÒ

(B)
¤µuõÚ ÁµÄ ö\»Ä vmh®

(C)
C»õ£ ÂQu[PÒ.

–––––––––––––
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